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Arithmetic of Exponents (Negative Exponents)

8 − (−6) =2 9 + 6 =2

4 + (−3) =2 9 − (−5) =(−1)

(−8) − (−5) =2 (−1) + 3 =2

3 + 6 =2 (−6) − (−10) =2

(−4) + 3 =(−2) 2 + (−1) =(−2)

8 − (−7) =(−2) 1 + 1 =

8 + (−3) =(−2) 3 + 3 =(−2)

1 − (−3) =(−2) 6 − 4 =(−2)

(−5) + 4 =(−2) 9 + (−8) =2

(−5) − (−5) = (−3) + 2 =(−2)
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Exponents (Negative Exponents)

8 − (−6) = 702 9 + 6 = 872

4 + (−3) = 132 9 − (−5) = = 5(−1)

9
46

9
1

(−8) − (−5) = 692 (−1) + 3 = 42

3 + 6 = 152 (−6) − (−10) = 462

(−4) + 3 = = 3(−2)

16
49

16
1

2 + (−1) = (− )(−2)

4
3

8 − (−7) = = 7(−2)

64
449

64
1

1 + 1 = 2

8 + (−3) = (− ) = (−2 )(−2)

64
191

64
63

3 + 3 = = 3(−2)

9
28

9
1

1 − (−3) = 4(−2) 6 − 4 = (− ) = (−3 )(−2)

36
143

36
35

(−5) + 4 = = 4(−2)

25
101

25
1

9 + (−8) = 732

(−5) − (−5) = 0 (−3) + 2 = = 2(−2)

9
19

9
1
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